Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s):			Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s):				Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s):				3-5/8% 30-Year TIPS TIPS of April 2028 912810FD5 April 15, 1998 April 15, 1998 July 15, 1998	3-7/8% 30-Year TIPS TIPS of April 2029 912810FH6 April 15, 1999 April 15, 1999 October 15, 1999 October 16, 2000	3-3/8% 30-1/2-Year TIPS TIPS of April 2032 912810FQ6 October 15, 2001 October 15, 2001	2% 10-Year TIPS Series D-2014 912828CP3 July 15, 2004 July 15, 2004 October 15, 2004
Maturity Date: Ref CPI on Dat				April 15, 2028 161.74000	April 15, 2029 164.39333	April 15, 2032 177.50000	July 15, 2014 188.49677							
Date	e		Ref CPI	Index Ratio	Index Ratio	Index Ratio	Index Ratio							
February	1	2014	233.06900	1.44101	1.41775	1.31306	1.23646							
February	2	2014	233.06829	1.44101	1.41775	1.31306	1.23646							
February	3	2014	233.06757	1.44100	1.41774	1.31306	1.23645							
February	4	2014	233.06686	1.44100	1.41774	1.31305	1.23645							
February	5	2014	233.06614	1.44099	1.41773	1.31305	1.23645							
February	6	2014	233.06543	1.44099	1.41773	1.31304	1.23644							
February	7	2014	233.06471	1.44098	1.41773	1.31304	1.23644							
February	8	2014	233.06400	1.44098	1.41772	1.31304	1.23643							
February	9	2014	233.06329	1.44097	1.41772	1.31303	1.23643							
February	10	2014	233.06257	1.44097	1.41771	1.31303	1.23643							
February	11	2014	233.06186	1.44097	1.41771	1.31302	1.23642							
February	12	2014	233.06114	1.44096	1.41770	1.31302	1.23642							
February	13	2014	233.06043	1.44096	1.41770	1.31302	1.23642							
February	14	2014	233.05971	1.44095	1.41770	1.31301	1.23641							
February	15	2014	233.05900	1.44095	1.41769	1.31301	1.23641							
February	16	2014	233.05829	1.44094	1.41769	1.31300	1.23640							
February	17	2014	233.05757	1.44094	1.41768	1.31300	1.23640							
February	18	2014	233.05686	1.44094	1.41768	1.31300	1.23640							
February	19	2014	233.05614	1.44093	1.41767	1.31299	1.23639							
February	20	2014	233.05543	1.44093	1.41767	1.31299	1.23639							
February	21	2014	233.05471	1.44092	1.41767	1.31298	1.23639							
February	22	2014	233.05400	1.44092	1.41766	1.31298	1.23638							
February	23	2014	233.05329	1.44091	1.41766	1.31298	1.23638							
February	24	2014	233.05257	1.44091	1.41765	1.31297	1.23637							
February	25	2014	233.05186	1.44090	1.41765	1.31297	1.23637							
February	26	2014	233.05114	1.44090	1.41764	1.31296	1.23637							
February	27	2014	233.05043	1.44090	1.41764	1.31296	1.23636							
February	28	2014	233.04971	1.44089	1.41763	1.31296	1.23636							
CPI-U (NSA) for: October 201		3 233,546	November 2013 233.	Decembe	er 2013 233.049									

Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s):				Description: CUSIP Number: Dated Date: Original Issue Date:				2-3/8% 20-1/2-Year TIPS TIPS of January 2025 912810FR4 July 15, 2004 July 30, 2004 January 31, 2005 July 29, 2005	1-5/8% 10-Year TIPS Series A-2015 912828DH0 January 15, 2005 January 18, 2005 April 15, 2005	1-7/8% 10-Year TIPS Series D-2015 912828EA4 July 15, 2005 July 15, 2005 October 17, 2005	2% 10-Year TIPS Series A-2016 912828ET3 January 15, 2006 January 17, 2006 April 17, 2006
Maturity Date: Ref CPI on Dated Date:				January 15, 2025 188.49677	January 15, 2015 190.94516	July 15, 2015 194.50968	January 15, 2016 198.47742				
Dat	e		Ref CPI	Index Ratio	Index Ratio	Index Ratio	Index Ratio				
February	1	2014	233.06900	1.23646	1.22061	1.19824	1.17428				
February	2	2014	233.06829	1.23646	1.22060	1.19823	1.17428				
February	3	2014	233.06757	1.23645	1.22060	1.19823	1.17428				
February	4	2014	233.06686	1.23645	1.22060	1.19823	1.17427				
February	5	2014	233.06614	1.23645	1.22059	1.19822	1.17427				
February	6	2014	233.06543	1.23644	1.22059	1.19822	1.17427				
February	7	2014	233.06471	1.23644	1.22058	1.19822	1.17426				
February	8	2014	233.06400	1.23643	1.22058	1.19821	1.17426				
February	9	2014	233.06329	1.23643	1.22058	1.19821	1.17426				
February	10	2014	233.06257	1.23643	1.22057	1.19821	1.17425				
February	11	2014	233.06186	1.23642	1.22057	1.19820	1.17425				
February	12	2014	233.06114	1.23642	1.22057	1.19820	1.17425				
February	13	2014	233.06043	1.23642	1.22056	1.19819	1.17424				
February	14	2014	233.05971	1.23641	1.22056	1.19819	1.17424				
February	15	2014	233.05900	1.23641	1.22055	1.19819	1.17423				
February	16	2014	233.05829	1.23640	1.22055	1.19818	1.17423				
February	17	2014	233.05757	1.23640	1.22055	1.19818	1.17423				
February	18	2014	233.05686	1.23640	1.22054	1.19818	1.17422				
February	19	2014	233.05614	1.23639	1.22054	1.19817	1.17422				
February	20	2014	233.05543	1.23639	1.22054	1.19817	1.17422				
February	21	2014	233.05471	1.23639	1.22053	1.19817	1.17421				
February	22	2014	233.05400	1.23638	1.22053	1.19816	1.17421				
February	23	2014	233.05329	1.23638	1.22052	1.19816	1.17421				
February	24	2014	233.05257	1.23637	1.22052	1.19815	1.17420				
February	25	2014	233.05186	1.23637	1.22052	1.19815	1.17420				
February	26	2014	233.05114	1.23637	1.22051	1.19815	1.17419				
February	27	2014	233.05043	1.23636	1.22051	1.19814	1.17419				
February	28	2014	233.04971	1.23636	1.22051	1.19814	1.17419				
CPI-U (NSA) for: October 201		3 233.546	November 2013 233.0	l Decembe	r 2013 233.049						

Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date: Ref CPI on Dated Date:				2% 20-Year TIPS TIPS of January 2026 912810FS2 January 15, 2006 January 31, 2006 July 31, 2006 January 15, 2026 198.47742	2-1/2% 10-Year TIPS Series D-2016 912828FL9 July 15, 2006 July 17, 2006 October 16, 2006 July 15, 2016 201.95161	2-3/8% 10-Year TIPS Series A-2017 912828GD6 January 15, 2007 January 16, 2007 April 16, 2007 January 15, 2017 201.66452	2-3/8% 20-Year TIF TIPS of January 20: 912810PS1 January 15, 2007 January 31, 2007 July 31, 2007 January 15, 2027 201.66452
Date	2		Ref CPI	Index Ratio	Index Ratio	Index Ratio	Index Ratio
E-h	1	2014	222.00000	1 17420	1 15400	1 15572	1 15572
February	1	2014	233.06900	1.17428	1.15408	1.15573	1.15573
February	2 3	2014	233.06829	1.17428	1.15408	1.15572	1.15572
February	3 4	2014 2014	233.06757 233.06686	1.17428 1.17427	1.15408 1.15407	1.15572 1.15572	1.15572 1.15572
February							
February	5	2014	233.06614	1.17427	1.15407	1.15571	1.15571
February	6	2014	233.06543	1.17427	1.15407	1.15571	1.15571
February	7	2014	233.06471	1.17426	1.15406	1.15571	1.15571
February	8	2014	233.06400	1.17426	1.15406	1.15570	1.15570
February	9	2014	233.06329	1.17426	1.15406	1.15570	1.15570
February	10	2014	233.06257	1.17425	1.15405	1.15569	1.15569
February	11	2014	233.06186	1.17425	1.15405	1.15569	1.15569
February	12	2014	233.06114	1.17425	1.15404	1.15569	1.15569
February	13	2014	233.06043	1.17424	1.15404	1.15568	1.15568
February	14	2014	233.05971	1.17424	1.15404	1.15568	1.15568
February	15	2014	233.05900	1.17423	1.15403	1.15568	1.15568
February	16	2014	233.05829	1.17423	1.15403	1.15567	1.15567
February	17	2014	233.05757	1.17423	1.15403	1.15567	1.15567
February	18	2014	233.05686	1.17422	1.15402	1.15567	1.15567
February	19	2014	233.05614	1.17422	1.15402	1.15566	1.15566
February	20	2014	233.05543	1.17422	1.15402	1.15566	1.15566
February	21	2014	233.05471	1.17421	1.15401	1.15566	1.15566
February	22	2014	233.05400	1.17421	1.15401	1.15565	1.15565
February	23	2014	233.05329	1.17421	1.15401	1.15565	1.15565
February	24	2014	233.05257	1.17420	1.15400	1.15564	1.15564
February	25	2014	233.05186	1.17420	1.15400	1.15564	1.15564
February	26	2014	233.05114	1.17419	1.15399	1.15564	1.15564
February	27	2014	233.05043	1.17419	1.15399	1.15563	1.15563
February	28	2014	233.04971	1.17419	1.15399	1.15563	1.15563

Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date: Ref CPI on Dated Date:				Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date:				2-5/8% 10-Year TIPS Series D-2017 912828GX2 July 15, 2007 July 16, 2007 October 15, 2007 July 15, 2017 207.25639	1-5/8% 10-Year TIPS Series A-2018 912828HN3 January 15, 2008 January 15, 2008 April 15, 2008 January 15, 2018 209.49645	1-3/4% 20-Year TIPS TIPS of January 2028 912810PV4 January 15, 2008 January 31, 2008 July 31, 2008 January 15, 2028 209.49645	1-3/8% 10-Year TE Series D-2018 912828JE1 July 15, 2008 July 15, 2008 October 15, 2008 July 15, 2018 215.63997
Date	:		Ref CPI	Index Ratio	Index Ratio	Index Ratio	Index Ratio				
		2011	222.0.000	1.10.151	1.110.50	1 11252	†				
February	1	2014	233.06900	1.12454	1.11252	1.11252	1.08082				
February	2	2014	233.06829	1.12454	1.11252	1.11252	1.08082				
February	3	2014	233.06757	1.12454	1.11251	1.11251	1.08082				
February	4	2014	233.06686	1.12453	1.11251	1.11251	1.08081				
February	5	2014	233.06614	1.12453	1.11251	1.11251	1.08081				
February	6	2014	233.06543	1.12453	1.11250	1.11250	1.08081				
February	7	2014	233.06471	1.12452	1.11250	1.11250	1.08080				
February	8	2014	233.06400	1.12452	1.11250	1.11250	1.08080				
February	9	2014	233.06329	1.12452	1.11249	1.11249	1.08080				
February	10	2014	233.06257	1.12451	1.11249	1.11249	1.08079				
February	11	2014	233.06186	1.12451	1.11249	1.11249	1.08079				
February	12	2014	233.06114	1.12451	1.11248	1.11248	1.08079				
February	13	2014	233.06043	1.12450	1.11248	1.11248	1.08078				
February	14	2014	233.05971	1.12450	1.11248	1.11248	1.08078				
February	15	2014	233.05900	1.12450	1.11247	1.11247	1.08078				
February	16	2014	233.05829	1.12449	1.11247	1.11247	1.08078				
February	17	2014	233.05757	1.12449	1.11247	1.11247	1.08077				
February	18	2014	233.05686	1.12449	1.11246	1.11246	1.08077				
February	19	2014	233.05614	1.12448	1.11246	1.11246	1.08077				
February	20	2014	233.05543	1.12448	1.11246	1.11246	1.08076				
February	21	2014	233.05471	1.12448	1.11245	1.11245	1.08076				
February	22	2014	233.05400	1.12447	1.11245	1.11245	1.08076				
February	23	2014	233.05329	1.12447	1.11245	1.11245	1.08075				
February	24	2014	233.05257	1.12447	1.11244	1.11244	1.08075				
February	25	2014	233.05186	1.12446	1.11244	1.11244	1.08075				
February	26	2014	233.05114	1.12446	1.11243	1.11243	1.08074				
February	27	2014	233.05043	1.12445	1.11243	1.11243	1.08074				
February	28	2014	233.04971	1.12445	1.11243	1.11243	1.08074				

Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date: Ref CPI on Dated Date:				2-1/8% 10-Year TIPS Series A-2019 912828JX9 January 15, 2009 January 15, 2009 April 15, 2009 January 15, 2019 214.69971	2-1/2% 20-Year TIPS TIPS of January 2029 912810PZ5 January 15, 2009 January 30, 2009 July 31, 2009 January 15, 2029 214.69971	1-1/4% 5-Year TIPS Series K-2014 912828KM1 April 15, 2009 April 30, 2009 October 30, 2009 April 15, 2014 211.63300	1-7/8% 10-Year TI Series D-2019 912828LA6 July 15, 2009 July 15, 2009 October 15, 2009 July 15, 2019 213.51819
Date	e		Ref CPI	Index Ratio	Index Ratio	Index Ratio	Index Ratio
		2011	222.05000	1.00555	4.00554	4.40400	1.00155
February	1	2014	233.06900	1.08556	1.08556	1.10129	1.09157
February	2	2014	233.06829	1.08555	1.08555	1.10129	1.09156
February	3	2014	233.06757	1.08555	1.08555	1.10128	1.09156
February	4	2014	233.06686	1.08555	1.08555	1.10128	1.09156
February	5	2014	233.06614	1.08554	1.08554	1.10128	1.09155
February	6	2014	233.06543	1.08554	1.08554	1.10127	1.09155
February	7	2014	233.06471	1.08554	1.08554	1.10127	1.09154
February	8	2014	233.06400	1.08553	1.08553	1.10126	1.09154
February	9	2014	233.06329	1.08553	1.08553	1.10126	1.09154
February	10	2014	233.06257	1.08553	1.08553	1.10126	1.09153
February	11	2014	233.06186	1.08552	1.08552	1.10125	1.09153
February	12	2014	233.06114	1.08552	1.08552	1.10125	1.09153
February	13	2014	233.06043	1.08552	1.08552	1.10125	1.09152
February	14	2014	233.05971	1.08551	1.08551	1.10124	1.09152
February	15	2014	233.05900	1.08551	1.08551	1.10124	1.09152
February	16	2014	233.05829	1.08551	1.08551	1.10124	1.09151
February	17	2014	233.05757	1.08550	1.08550	1.10123	1.09151
February	18	2014	233.05686	1.08550	1.08550	1.10123	1.09151
February	19	2014	233.05614	1.08550	1.08550	1.10123	1.09150
February	20	2014	233.05543	1.08549	1.08549	1.10122	1.09150
February	21	2014	233.05471	1.08549	1.08549	1.10122	1.09150
February	22	2014	233.05400	1.08549	1.08549	1.10122	1.09149
February	23	2014	233.05329	1.08548	1.08548	1.10121	1.09149
February	24	2014	233.05257	1.08548	1.08548	1.10121	1.09149
February	25	2014	233.05186	1.08548	1.08548	1.10121	1.09148
February	26	2014	233.05114	1.08547	1.08547	1.10120	1.09148
February	27	2014	233.05043	1.08547	1.08547	1.10120	1.09148
February	28	2014	233.04971	1.08547	1.08547	1.10120	1.09147
			<u> </u>			ı	<u> </u>

Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s):				Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s):				1-3/8% 10-Year TIPS Series A-2020 912828MF4 January 15, 2010 January 15, 2010 April 15, 2010	2-1/8% 30-Year TIPS TIPS of February 2040 912810QF8 February 15, 2010 February 26, 2010 August 31, 2010	0-1/2% 5-Year TIPS Series K-2015 912828MY3 April 15, 2010 April 30, 2010 October 29, 2010	1-1/4% 10-Year TII Series D-2020 912828NM8 July 15, 2010 July 15, 2010 September 15, 2010 November 15, 2010 July 15, 2020
Ref CPI on Da	ted Date:			216.24610	216.13950	216.71220	218.08532				
Dat	te		Ref CPI	Index Ratio	Index Ratio	Index Ratio	Index Ratio				
February	1	2014	233.06900	1.07780	1.07833	1.07548	1.06871				
February	2	2014	233.06829	1.07779	1.07832	1.07547	1.06870				
February	3	2014	233.06757	1.07779	1.07832	1.07547	1.06870				
February	4	2014	233.06686	1.07779	1.07832	1.07547	1.06870				
February	5	2014	233.06614	1.07778	1.07831	1.07546	1.06869				
February	6	2014	233.06543	1.07778	1.07831	1.07546	1.06869				
February	7	2014	233.06471	1.07778	1.07831	1.07546	1.06869				
February	8	2014	233.06400	1.07777	1.07830	1.07545	1.06868				
February	9	2014	233.06329	1.07777	1.07830	1.07545	1.06868				
February	10	2014	233.06257	1.07777	1.07830	1.07545	1.06868				
February	11	2014	233.06186	1.07776	1.07829	1.07544	1.06867				
February	12	2014	233.06114	1.07776	1.07829	1.07544	1.06867				
February	13	2014	233.06043	1.07776	1.07829	1.07544	1.06867				
February	14	2014	233.05971	1.07775	1.07828	1.07543	1.06866				
February	15	2014	233.05900	1.07775	1.07828	1.07543	1.06866				
February	16	2014	233.05829	1.07775	1.07828	1.07543	1.06866				
February	17	2014	233.05757	1.07774	1.07827	1.07542	1.06865				
February	18	2014	233.05686	1.07774	1.07827	1.07542	1.06865				
February	19	2014	233.05614	1.07774	1.07827	1.07542	1.06865				
February	20	2014	233.05543	1.07773	1.07826	1.07541	1.06864				
February	21	2014	233.05471	1.07773	1.07826	1.07541	1.06864				
February	22	2014	233.05400	1.07773	1.07826	1.07541	1.06864				
February	23	2014	233.05329	1.07772	1.07825	1.07540	1.06863				
February	24	2014	233.05257	1.07772	1.07825	1.07540	1.06863				
February	25	2014	233.05186	1.07772	1.07825	1.07540	1.06863				
February	26	2014	233.05114	1.07771	1.07824	1.07539	1.06862				
February	27	2014	233.05043	1.07771	1.07824	1.07539	1.06862				
February	28	2014	233.04971	1.07771	1.07824	1.07539	1.06862				
	NSA) for:		October 2013	233.546	November 2013 233.0	069 Decembe	r 2013 233.049				

Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s):				Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s):				1-1/8% 10-Year TIPS Series A-2021 912828PP9 January 15, 2011 January 31, 2011 March 31, 2011 May 31, 2011 January 15, 2021	2-1/8% 30-Year TIPS TIPS of February 2041 912810QP6 February 15, 2011 February 28, 2011 June 30, 2011 October 31, 2011 February 15, 2041	0-1/8% 5-Year TIPS Series W-2016 912828QD5 April 15, 2011 April 29, 2011 August 31, 2011 December 30, 2011 April 15, 2016	0-5/8% 10-Year TIP Series D-2021 912828QV5 July 15, 2011 July 29, 2011 September 30, 2011 November 30, 2011 July 15, 2021
Ref CPI on Dated Date:				218.75255	218.99100	220.72980	225.38381				
Dat	te		Ref CPI	Index Ratio	Index Ratio	Index Ratio	Index Ratio				
February	1	2014	233.06900	1.06545	1.06429	1.05590	1.03410				
February	2	2014	233.06829	1.06544	1.06428	1.05590	1.03410				
February	3	2014	233.06757	1.06544	1.06428	1.05590	1.03409				
February	4	2014	233.06686	1.06544	1.06428	1.05589	1.03409				
February	5	2014	233.06614	1.06543	1.06427	1.05589	1.03409				
February	6	2014	233.06543	1.06543	1.06427	1.05589	1.03408				
February	7	2014	233.06471	1.06543	1.06427	1.05588	1.03408				
February	8	2014	233.06400	1.06542	1.06426	1.05588	1.03408				
February	9	2014	233.06329	1.06542	1.06426	1.05588	1.03407				
February	10	2014	233.06257	1.06542	1.06426	1.05587	1.03407				
February	11	2014	233.06186	1.06541	1.06425	1.05587	1.03407				
February	12	2014	233.06114	1.06541	1.06425	1.05587	1.03406				
February	13	2014	233.06043	1.06541	1.06425	1.05586	1.03406				
February	14	2014	233.05971	1.06540	1.06424	1.05586	1.03406				
February	15	2014	233.05900	1.06540	1.06424	1.05586	1.03405				
February	16	2014	233.05829	1.06540	1.06424	1.05585	1.03405				
February	17	2014	233.05757	1.06539	1.06423	1.05585	1.03405				
February	18	2014	233.05686	1.06539	1.06423	1.05585	1.03404				
February	19	2014	233.05614	1.06539	1.06423	1.05584	1.03404				
February	20	2014	233.05543	1.06538	1.06422	1.05584	1.03404				
February	21	2014	233.05471	1.06538	1.06422	1.05584	1.03403				
February	22	2014	233.05400	1.06538	1.06422	1.05583	1.03403				
February	23	2014	233.05329	1.06537	1.06421	1.05583	1.03403				
February	24	2014	233.05257	1.06537	1.06421	1.05583	1.03403				
February	25	2014	233.05186	1.06537	1.06421	1.05582	1.03402				
February	26	2014	233.05114	1.06536	1.06420	1.05582	1.03402				
February	27	2014	233.05043	1.06536	1.06420	1.05582	1.03402				
February	28	2014	233.04971	1.06536	1.06420	1.05581	1.03401				
CPI-U (N	ICA) form		October 2013	233,546	November 2013 233.	Decembe	r 2013 233.049				

Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date:			Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s):				0-1/8% 10-Year TIPS Series A-2022 912828SA9 January 15, 2012 January 31, 2012 March 30, 2012 May 31, 2012 January 15, 2022	0-3/4% 30-Year TIPS TIPS of February 2042 912810QV3 February 15, 2012 February 29, 2012 June 29, 2012 October 31, 2012 February 15, 2042	912828SQ4 April 15, 2012 April 30, 2012 August 31, 2012 December 31, 2012 April 15, 2017	0-1/8% 10-Year TII Series D-2022 912828TE0 July 15, 2012 July 31, 2012 September 28, 2012 November 30, 2012 July 15, 2022
Ref CPI on Da			Ref CPI	226.33474 225.96062 Index Ratio Index Ratio		227.13073 229.96306 Index Ratio Index R				
Dat			Refer	Inuca Ratio	IIIuca Ratio	Index Natio	muca Ratio			
February	1	2014	233.06900	1.02975	1.03146	1.02614	1.01351			
February	2	2014	233.06829	1.02975	1.03146	1.02614	1.01350			
February	3	2014	233.06757	1.02975	1.03145	1.02614	1.01350			
February	4	2014	233.06686	1.02974	1.03145	1.02614	1.01350			
February	5	2014	233.06614	1.02974	1.03145	1.02613	1.01349			
February	6	2014	233.06543	1.02974	1.03144	1.02613	1.01349			
February	7	2014	233.06471	1.02973	1.03144	1.02613	1.01349			
February	8	2014	233.06400	1.02973	1.03144	1.02612	1.01348			
February	9	2014	233.06329	1.02973	1.03143	1.02612	1.01348			
February	10	2014	233.06257	1.02973	1.03143	1.02612	1.01348			
February	11	2014	233.06186	1.02972	1.03143	1.02611	1.01348			
February	12	2014	233.06114	1.02972	1.03142	1.02611	1.01347			
February	13	2014	233.06043	1.02972	1.03142	1.02611	1.01347			
February	14	2014	233.05971	1.02971	1.03142	1.02610	1.01347			
February	15	2014	233.05900	1.02971	1.03141	1.02610	1.01346			
February	16	2014	233.05829	1.02971	1.03141	1.02610	1.01346			
February	17	2014	233.05757	1.02970	1.03141	1.02609	1.01346			
February	18	2014	233.05686	1.02970	1.03140	1.02609	1.01345			
February	19	2014	233.05614	1.02970	1.03140	1.02609	1.01345			
February	20	2014	233.05543	1.02969	1.03140	1.02608	1.01345			
February	21	2014	233.05471	1.02969	1.03140	1.02608	1.01344			
February	22	2014	233.05400	1.02969	1.03139	1.02608	1.01344			
February	23	2014	233.05329	1.02968	1.03139	1.02608	1.01344			
February	24	2014	233.05257	1.02968	1.03139	1.02607	1.01343			
February	25	2014	233.05186	1.02968	1.03138	1.02607	1.01343			
February	26	2014	233.05114	1.02967	1.03138	1.02607	1.01343			
February	27	2014	233.05043	1.02967	1.03138	1.02606	1.01343			
February	28	2014	233.04971	1.02967	1.03137	1.02606	1.01342			

Security: Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date:				Description: CUSIP Number: Dated Date: Original Issue Date: Additional Issue Date(s): Maturity Date:				0-1/8% 10-Year TIPS Series A-2023 912828UH1 January 15, 2013 January 31, 2013 March 28, 2013 May 31, 2013 January 15, 2023	0-5/8% 30-Year TIPS TIPS of February 2043 912810RA8 February 15, 2013 February 28, 2013 June 28, 2013 October 31, 2013	0-1/8% 5-Year TIPS Series X-2018 912828UX6 April 15, 2013 April 30, 2013 August 30, 2013 December 31, 2013	0-3/8% 10-Year TII Series D-2023 912828VM9 July 15, 2013 July 31, 2013 September 30, 2013 November 29, 2013 July 15, 2023
Ref CPI on Da				230.82203	229.91100	231.16013	232.71797				
Dat	e		Ref CPI	Index Ratio	Index Ratio	Index Ratio	Index Ratio				
February	1	2014	233.06900	1.00973	1.01374	1.00826	1.00151				
February	2	2014	233.06829	1.00973	1.01373	1.00825	1.00151				
February	3	2014	233.06757	1.00973	1.01373	1.00825	1.00150				
February	4	2014	233.06686	1.00973	1.01373	1.00825	1.00150				
February	5	2014	233.06614	1.00972	1.01372	1.00825	1.00150				
February	6	2014	233.06543	1.00972	1.01372	1.00824	1.00149				
February	7	2014	233.06471	1.00972	1.01372	1.00824	1.00149				
February	8	2014	233.06400	1.00971	1.01371	1.00824	1.00149				
February	9	2014	233.06329	1.00971	1.01371	1.00823	1.00148				
February	10	2014	233.06257	1.00971	1.01371	1.00823	1.00148				
February	11	2014	233.06186	1.00970	1.01370	1.00823	1.00148				
February	12	2014	233.06114	1.00970	1.01370	1.00822	1.00147				
February	13	2014	233.06043	1.00970	1.01370	1.00822	1.00147				
February	14	2014	233.05971	1.00969	1.01370	1.00822	1.00147				
February	15	2014	233.05900	1.00969	1.01369	1.00821	1.00147				
February	16	2014	233.05829	1.00969	1.01369	1.00821	1.00146				
February	17	2014	233.05757	1.00969	1.01369	1.00821	1.00146				
February	18	2014	233.05686	1.00968	1.01368	1.00821	1.00146				
February	19	2014	233.05614	1.00968	1.01368	1.00820	1.00145				
February	20	2014	233.05543	1.00968	1.01368	1.00820	1.00145				
February	21	2014	233.05471	1.00967	1.01367	1.00820	1.00145				
February	22	2014	233.05400	1.00967	1.01367	1.00819	1.00144				
February	23	2014	233.05329	1.00967	1.01367	1.00819	1.00144				
February	24	2014	233.05257	1.00966	1.01366	1.00819	1.00144				
February	25	2014	233.05186	1.00966	1.01366	1.00818	1.00143				
February	26	2014	233.05114	1.00966	1.01366	1.00818	1.00143				
February	27	2014	233.05043	1.00965	1.01365	1.00818	1.00143				
February	28	2014	233.04971	1.00965	1.01365	1.00817	1.00143				
	ISA) for:										